CCESsSories

DZ51 (Relay adapter) For connections of DG-B, DL-BR, DL-B and DT12/32N/P* to LG, LH and LY displays

0 connect the DT12/32NAR-use the DZ51 in
bination with the MT1 % t

DZ173 Air release (for DE12BR/30BR, U Series)

[
[

DZ301 Bellows set (for DL330B, DE30BR)

Bellows 7 Extension spindle
TL I il ‘ - e
IR nnnnnnananaannaanaeaanannnnng —
'S+ UUCTIUIRUTUUTIUIRUTRTIURIL A .
51 1 | OO .=;==
6
. . . 25 6
*\With the extension spindle attached, I
the spindle is extended by 25 mm and 30
the measuring force increases by about 0.3 N.
Unit : mm

@@EZT;‘

Unit : mm

DZ175-010 Air Lifter (for DL10BR) -030 (for DL30BR) -060 (for DL60BR)

Fixing screw
(3-M3x5)

=

218

Nut (M 5) Spindle mounting
screw (M 2.5)
Mounting screw for

machine carriage (M 5) Unit : mm

S—1 is requreng scI 228

units and counters: E= =
Gauge unit: DE-BR Series, DG-B Series = 5
Counter: LY71 and LY72 # BT
* Adapter DZ51 is also required 0 = .

N 2.2

2—M3 barin ZZV 2.7

(06.5) -
e
t DA
300 @) |G

Unit : mm

*Please refer to p54 for the details of the screw.

35



ACCESSOr

DZ301 Bellows set (for DL330B, DE30BR)

Bellows Extension spindle

J \ M2.5 M2.5
= | O {E]{
s

*\With the extension spindle attached, A o5 ‘ )
the spindle is extended by 25 mm and 1
the measuring force increases by about 0.3 N, <0
Unit T mm

DZ-501 Digital gauging stand (for U60B, DG10B to DG100B, DE-30BR)

eSurface plate material : alumina ceramic
eSurface plate flatness: 2 um

sSurface plate size : 110 mm (4.33") x 110 mm (4.33")
eMaximum workpiece height: approx. 190 mm(7.48")
*Gauge mounting hole : @ 20mm (0.79")
*Mass : 13kg (28.67 Ibs) %

272

Probe mounting hole

SZ70-1 Adapter

SZ70-1 is required for connecting the following scale units and counters:
Gauge unit : DE-BR Series, DG-B Series
Counter : LH71A, LH72-3, LY71 and LY72
* Adapter DZ51 is also required
84.4

e e

45 £0.1
54

9 3 +0l1 ¢
|
_‘k% T

3 46 10.15

i —

!
63

ZE—MS baring 22 2;3‘7 40

DZ302 Bellows set (for DE12BR)

Extension spindle
M2.5 M2.5

Bellows

o4
k&‘
—
|
|
+
=

*\With the extension spindle attached, . L
the spindle is extended by 8 mm.

Unit : mm

DZ521 Gauging stand (for DG805BL/810B/810BL, U Series, DE12BR)

eSurface plate material : alumina ceramic (dark brown)
| eSurface plate flatness : 2 um

eSurface plate size : 80 mm (3.15") x 80 mm (3.15")

eMaximum workpiece height : approx. 105 mm (4.13")
Tl *Gauge mounting hole : @ 8 mm (0.31")
eMass: 3.8 kg (8.38 Ibs)

Lever-type clamp

|- 80

mounting hole @8
75 —| 025
[m]
A Internal spring
¥ prevents the arm
4 from dropping
N 4 ) o= L
j
0 ©
[1o] N
@
&
@
['s)

h:s_-s_:l\ 7}§j7 Unit : mm

DZ-191 Coupling

85| [65) |5

Fixing screw
(38-M 3 x[5)

N

e
Z: i
e Z
ull [

018

Nut (M 5) Spindle mounting
screw (M 2.5)
Mounting screw for
machine carriage (M 5) Unit : mm

DZ-5100 Feeler set

©6.5)
| g
= ‘ 300 (45)
19 | 22 oo
—1& Unit : mm
*Plastic ball contact
— point: @ 3mm nylon ball

o7

Note : The four contactors shown at right are included. <0—g>

Flat carbide contact point

*Pin contact point

o
T

oo

«Off-center contact point:
@ 1mm steel ball

SZ70-2 Adapter

SZ70-2 is required for connecting the following scale units and counters:
Gauge unit: DE-BR  Counterunit: LT30 Interface unit: MG series

*Please refer to p54 for the details of the screw.

Unit : mm
84.4
2o
@ [ @
o 8
s S
sH B )
g 9
>
& i [
22 [[/17] 40
[-¢3.7
Unit : mm

21



*Operating temperature: 0 to 50°C eStorage temperature: -10 to 60°

= |

eMass: 419 (incl. speed controller) eService life:5 million times ‘ | OI
*Supplied accessories: Mounting jig, speed controller (SMC: AS1211F-M5-04) S
unit : mm
DZ-191 Coupling DZ-100 Roller feeler (for DT Series,DG-B Series: except for DG155BP/205BP)
85 165 5
15 Fixing screw
(3-M3x5)
2 %//lTﬁ\\\\\\\\\%i/‘, Roller thickness:4mm
Nut (M 5) Spindle mounting
screw (M 2.5)
Mounting screw for
machine c: ge (M 5)
Y m

5 2

*CE-08 Extension cable : CE08-01 (1m) .03 (3m) .05 (5m) .10 (10m) .15 (15m)
*CK-T Extension cable (Ahead-proof) : CK-T12 (1m) . T13(3m) . T14 (5m) . T15 (10m)
*CK-T101/T105 (Winding-proof) : T101(3m) . T105(5m)S

e 027 277 9781

er accessories

*Please refer to p54 for the details of the screw.

32




	DZ51_SZ70.pdf
	DZ521_5100.pdf
	DZ176_DZ100.pdf



